[N of reco track vs normalized x* ] [N o associated (recoTosim) tacks vs normalized x* N of associated (recoToSim) looper tracks vs normalized x*

9] F 1%} F 123 - 0
x L x x x
5} 3} -’ 5} 3}
g £ .5 : g g
o 10°F=: © =
E F o4 & g
Fo £
3 10°F 2
10°F
3 10°F
o ] o o
3 3 : 3 3
24 o 1.05 i o @
0"0 8 10 12 14 16 18 20 O'TJ 2 4 6 8 10 12 14 16 18 20 10 12 14 16 18 20
track x2 track x2 track x?
[ §l2d28p-Lyihiipgl g0 modelTEST-24 =
2 2 o 0
[} 5} S E <
g g 105 g . g
- 9 R 5 10°F s
R : F g
10°E s
3
”
3
10 o
102y -
5 .
10
- MO - e
2 TNV TH T g M- R S °
s - “ ‘ g 19 i EI 3 2
= ' I8 x - S L4 &
il : e
T - n et TRttt
AL e




	Contents
	Page 1


